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KEY AND MARKING SCALE

Please accept any appropriate answer not mentioned in this key.
1. COMPREHENSION (15 POINTS)

Testees should not be penalised for spelling and grammar mistakes in the comprehension section,

A. CHOOSE THE RIGHT ANSWER. (1 pt)
c. people’s experiences with online learning.
B. TRUE OR FALSE: (3 pts) (1 pt each: 0.5 pt for the right choice and 0.5 pt for the right justification.
Consider the justification only if the choice is correct. Quotes from the text are acceptable.)
1. F. Minnesota Virtual Academy (MVA) in USA is entirely online since 1999.
2. T. This year, an additional 2,000 students enrolled because of COVID-19.
3. F. students study from Monday to Friday.
C. WH QUESTIONS: (3 pts; 1 pt each)
1. He found it hard to stay engaged and he didn’t feel supported by his teachers.
2. to ensure they learn at no cost.
3. it’s more autonomous, flexible and fun. (0,5pt for one advantage ; 1 pt for two or more).
D. SENTENCE COMPLETION: (2 pts; 1 pt each)
1. Bullying, misbehavior, lack of concentration ---(0,5pt for one problem ; 1 pt for two or more).
20 offer online lessons to his students.
E. WORD MEANING: (3 pts; 1 pt each) l. barriers 2. secure 3. ensure
F. WORD REFERENCE: (3 pts; 1 pt each)
1. Moving to online learning 2. Minnesota Virtual Academy (MVA) 3. Ann
IL LANGUAGE (15 POINTS)
A. GAP FILLING: (2 pts; 0.5 pt each) L.in spite of 2. will 3.takes after 4. which

B. GAP FILLING: (2 pts; 1 pt each) 1. generation 2. high
C. WORD FORM: (2 pts; 1 pt each) 1. leadership 2. unemployed
D. VERB TENSE: (2 pts; 0.5 pt each) 1.was writing - called
2. have just received - will have arrived

E. SENTENCE REWRITING: (3 pts; 1 pt each)
1. ... are being designed (by computer engineers).
2. ... that the number of foreign students in Morocco had increased.
3. Alberto is saving money so that he could/can buy a new car.

F. MATCHING: (2 pts; 0.5 pt each) 1. d 2.¢c 3.b 4. a
G. RESPONDING TO SITUATIONS: (2 pts; 1pt each) Accept any correct and appropriate answer.
III. WRITING (10 POINTS; Task 1: 4 pts; Task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.
B Scoring criteria Task 1 Task2 |
Relevance of content to the task 2 pts 3 pts
Appropriateness and variety of vocabulary 1 pt 2 pts
Grammar and mechanics 1 pt 1 pt




